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Note: This question paper contains two parts A and B'
part A is compulsory which carries 25 marks. Answer all questions in Part A.
part B consistJ of 5 Units. Answer any one full question from each unit. Each

Max.Marks:75

question c_ar:ries 10 mar.ks and.may have a, b,. c as sub questions.
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PART- A

1,a) . Why are "the management. principies important
organization?

b) State any one principie of Taylor's Scientiflc
suitable example.

for the, suqgess of

Managernent theory

c) Give one example each for the adoption of job, batch and mass

(25 Marks)

any-".business
'..'.. ' . lzl
and give

t3l
production methods.

12l

t3t
tzl

influence motivation in

[5+5]

, d).
e)
f)
s)
h)
i)

: .-, 
t- "

j)

Describe thelli.ecessity of a"cceptance sampli"lg,..' :l .: r- ..

Name tr,elvlariLus levlls in:a Capability Mattiiiiy Model (cMMi.

?.4) ,' Compare and contrast. with suitablc
in a business organizarion.

What are the important steps in manpower planning of a business organization'? t3l
Define Float, Free Float and Total Float for a project activity. L2)

What are the requirements for seiecting which activity to crash in any project? t3l
What is Bench Marking and how does an organization derive benefit from such

initiatiVes?., ,""., i.'.'-: ,""""..: :,",: ,"..'": :.-.: ,.".: i"".'::'--"'": 12)

Why is .nViioiirn"ntal scahniirg important in"stiategy develbprneirt? '" .'' "' 
[3]

PART.B
(50 Marks)

ex amples,' departme ntatio n an ci dece ntralization

b) According to Hertzbet-g, what are the two types o1'factgrs that

any organization?
OR

3"a) . Explain, with.suitable diagram.anci examples, Abrah:rm Maslow's Hierarchy of Needs

in a business organizationi
b) Compare and contrast mechanistic and organic structures of an organrzation. [5+5]



4.a) \Vhat ure the valit.ru: t1'pe: ol'plant luyotrts? Explain uith suitublc exrtntplcs and

diagrams.
b) It was found out after an exercise involving customers and employees that a critical

dimension of the service quality of a call center is the wait time of a caller to get to a

sales representative. Periodically, randonr sanrples of three customer calls are

l meas.rred for time. The results of the last I'our santples are in the fbllou'rng table:

Sample Time (Sec)

1 495 501 498

2 5t2 s08 504

505 , 497 501
'4. 196 503 .492

Assuming that management is willing to use three sigma control

only the historical information contained in the lour samples and

constants, given in the table below, check whether the call center

..., :.^., statistical,control or not. (I-Ise x-bar & R ch.q1Q."' .""' i"..'

.,

lirnits, and using
the value of the

access time is in
:' ;[3+71
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5.a)
lr\

OR
What are the assumptions in a basic EOQ model of inventory management'

A company makes bicycles. It produces 450 bicycles a month and works 12 months a

year. Ii buys the rires for bicycles from a supplier at a cost of $20 per tire. The

. tornpurryis.ilrv.pntory carry"furg'post is estiryalqd.to be 15%,of .c.gpt and. the o;$gting is

. SSO per-c;r'&er'1ir:respective.ijf ihe order sizb): Calculate the'EOQ, number of eirders in

u yiur, total annual ordering cost, inventory carrying cost and total cost of this

inventory policy. l3+7)

6.a) What are the essential dift'erences between huntan l'esource lnanagenlent (HRN{) and

.. : | : personnel management & industrial relations (PM & IR)' .-
' b) Why manpower: planning is important for any organization'? Whal are the factor the

influence lnan pov!'er planning? [3+7]
OR

7.a) the objectives

wh6t. are the"' 
74+61

What do you understand by a performance appraisal system? What are

of a good performance appraisal system?

*nui oo 1 ;6gi;.irnaetstano :6b l.i1"nrov"" eti3il4i"t^ in an or gfiization?
benefits <if'an 6ffective gri6Vince handling SyStem?
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8.a) Cor]-ipare antl contrast between CPM anti PERT' itl thc eon[ext of projecL

Ill allagelllen [.

b) Drawlhe suitable network diagram and ide,tify the crltical path. What is the duration

oftheprojectthatwillhave5OTochanceofcompletion?[4+6]
Activity In-imediate . Optimistic (a) Most Likely (nr.) Pessimistic(b)

'':"-' ' 
".'prej"aa55si 

: 'time time ' ' tlme:: is 3weeksA lweek 2rveel

ts234
cAt2l
DB246
L,cl41"

G D,E 3 4 li
HF,GI23

OR
9.a) What are the lules to be satisfied for the identifrcation of critical path?

bi you are, gi.v-en the following data abou't ihe pro3ect tasks. neiwork, a1d; crash

.. ,,':,. dmes/cosrs; Calculate the.cost.of the projecr at all time durations until you can no

Ionger crash the project anyfurther. lnclntlves of $500 perday beyond initial duration

will be available. [a+6]

10.a) Perform a SWOT analysis for indian Railways. Expiain your logic briefly'

b) What are the uarious generic strategy alternatives available to any business

' ,',i,,t,' "re".,;#;^p;;i; *itfr -s'litaure exanlplel ' 
"" 

',1'[5+5]

11.a) What is Corporate Strategy Planning Process? Why is this important for long term

success of any business organization?

b) What are the various steps rn any successful benchmarking process? Explain giving

relevantexamples. : , ,[5+51
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